ramses1

\$123,815.22



October 2, 2024

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 30, 2024

Progress Estimate Number		Contract ID Prime Contracto	240813-B05 or Karrenbrock Construction, Inc	Pay Period Start September 15, 2024 Original Contract Amou Pay Period End September 30, 2024 Net Change Order Amou Current Contract Amou	ount \$0.00
Approval Date					By User
October 1, 2024			Generated and Approved	d (and should be considered Draft) at the Project Office Level by	baxtem1
October 1, 2024			Reviewed and Approved (and	d should be considered Draft) at the Resident Engineer Level by	baxtem1

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
November 6, 2024	November 6, 2024		38.76%

Reviewed and Approved at the Central Office Controllers Office Level by

	Milestones						
Date Description	Original Completion Date	Current Completion Date	No Milestones Exist for Contract				
Acceptance Date							
Awarded Date	August 13, 2024	August 13, 2024					
Letting Date	August 13, 2024	August 13, 2024					
Notice to Proceed Date	August 26, 2024	August 26, 2024					
Open to Traffic Date							
Work Began Date							

Contract Total Pay For Estimate No. 3									
		This Estimate	Previous	To Date					
240813-B05									
	Total Posted Items Pay	\$123,815.22	\$452,012.12	\$575,827.34					
	Gross Item Adjustments	(\$1,500.00)	(\$20,400.00)	(\$21,900.00)					
	Incentive	\$0.00	\$0.00	\$0.00					
	Disincentive	\$0.00	\$0.00	\$0.00					
	Liquidated Damage	\$0.00	\$0.00	\$0.00					
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00					
			\$431,612.12	\$553,927.34					
Contract Total Pa	ayable This Estimate:	\$122,315.22							

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JNE0171	0010	2013000	CLEARING AND GRUBBING	ACRE	\$12,850.000	0.5	\$6,425.00
	0030	2031000	CLASS A EXCAVATION	CUYD	\$9.000	3,960	\$35,640.00
	0050	2142000	FURNISHING ROCK FILL	CUYD	\$34.700	1,536.4	\$53,313.08
	0060	2143000	PLACING ROCK FILL	CUYD	\$11.240	1,536.4	\$17,269.14
	0110	6113010	FURNISHING TYPE 1 ROCK BLANKET	CUYD	\$45.000	43	\$1,935.00
	0120	6113030	PLACING TYPE 1 ROCK BLANKET	CUYD	\$31.000	43	\$1,333.00
	0170	6181000	MOBILIZATION	LS	\$25,600.000	0.25	\$6,400.00
	0200	6240104A	SEPARATION GEOTEXTILE	SQYD	\$3.000	500	\$1,500.00
Project JNE0171	- Total						\$123,815.22

Contract Adjustments This Estimate

Overall - Total

No Contract Adjustments Exist on Contract

		nents This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JNE0171	0100	MISC.	MaterialCredit			0.25	\$57,600.00	\$14,400.00
	0100	MISC.	Material			-0.25	\$57,600.00	(\$14,400.00)
	0200	SEPARATION GEOTEXTILE	MaterialCredit			2,000	\$3.00	\$6,000.00
	0200	SEPARATION GEOTEXTILE	Material			-2,500	\$3.00	(\$7,500.00)
Total								(\$1,500.00)

Revision 3/23/2023 Page 1 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information	1			
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work					
JNE0171	FAS Emergency S203(26) Slide repair U WARREN from 1.7 miles north of Route 94 to 2.1 miles north of Route 94 near Pinckney									
Totals by J	lob Numbe	rs								
JNE0171					This Estimate	Previous	To Date			
	Poste	d Item Pay			\$123,815.22	\$452,012.12	\$575,827.34			
	Gross	Item Adjustm			(\$1,500.00)	(\$20,400.00)	(\$21,900.00)			
			Gross	Item Pay	\$122,315.22	\$431,612.12	\$553,927.34			
	Incent	ive			\$0.00	\$0.00	\$0.00			
	Disino	entive			\$0.00	\$0.00	\$0.00			
	Liquid	lated Damages	3		\$0.00	\$0.00	\$0.00			
		Contract Adju			\$0.00	\$0.00	\$0.00			

Revision 3/23/2023 Page 2 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JNE0171, Item 6059901, Project Item Line Number 0100, Material Set 6059901, Material 1011GXT1 - Geotextile Fabric for SubsrfDrainage(T1), Acceptance Action Generic 1011GXT1 is insufficient.	have not received certification	mcdant2	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JNE0171, Item 6059901, Project Item Line Number 0100, Material Set 6059901, Material 1013DMCRPE04 - Underdrain Corrugated PE 4" (100mm), Acceptance Action Generic 1013DMCRPE04 is insufficient.	have not received certification	mcdant2	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JNE0171, Item 6240104A, Project Item Line Number 0200, Material Set 6240104A96, Material 1011GXT4 - Geotextile Fabric for Separation (T4), Acceptance Action Generic 1011GXT4 is insufficient.	have not received certification	mcdant2	Acknowledged

Revision 3/23/2023 Page 3 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
13-B05	JNE0171	0001	0010	2013000	CLEARING AND GRUBBING	1.50	0.00	1.50	ACRE	1.50	\$12,850.00	\$19,275.00
		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$2,000.00	\$2,000.0
		0001	0030	2031000	CLASS A EXCAVATION	17,263.00	0.00	17,263.00	CUYD	8,664.00	\$9.00	\$77,976.0
		0001	0040	2071000	LINEAR GRADING CLASS 1	18.00	0.00	18.00	STA	0.00	\$400.00	\$0.0
		0001	0050	2142000	FURNISHING ROCK FILL	17,669.00	0.00	17,669.00	CUYD	11,038.40	\$34.70	\$383,032.4
		0001	0060	2143000	PLACING ROCK FILL	17,669.00	0.00	17,669.00	CUYD	11,038.40	\$11.24	\$124,071.6
		0001	0070	2159910	MISC.Shaping Slopes Class III - Modified Material Requirement	1.00	0.00	1.00	100F	0.00	\$4,000.00	\$0.00
		0001	0080	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	2,088.00	0.00	2,088.00	SQYD	0.00	\$5.00	\$0.00
		0001	0090	4019905	MISC.OPTIONAL PAVEMENT	2,088.00	0.00	2,088.00	SQYD	0.00	\$75.00	\$0.00
		0001	0100	6059901	MISC.ROCK FILL UNDERDRAINAGE	1.00	0.00	1.00	LS	0.25	\$57,600.00	\$14,400.00
		0001	0110	6113010	FURNISHING TYPE 1 ROCK BLANKET	814.00	0.00	814.00	CUYD	136.00	\$45.00	\$6,120.00
		0001	0120	6113030	PLACING TYPE 1 ROCK BLANKET	814.00	0.00	814.00	CUYD	136.00	\$31.00	\$4,216.00
		0001	0130	6141022	GRATE AND BEARING PLATE (3 FT. X 3 FT. OR 914 MM X 914 MM)	3.00	0.00	3.00	EA	0.00	\$2,500.00	\$0.0
		0001	0140	6161005	CONSTRUCTION SIGNS	20.00	0.00	20.00	SQFT	0.00	\$15.00	\$0.0
		0001	0150	6161030	TYPE III MOVEABLE BARRICADE	6.00	0.00	6.00	EA	6.00	\$300.00	\$1,800.0
		0001	0160	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	40.00	0.00	40.00	LF	40.00	\$120.00	\$4,800.0
		0001	0170	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.75	\$25,600.00	\$19,200.0
		0001	0180	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	2,660.00	0.00	2,660.00	LF	0.00	\$2.75	\$0.0
		0001	0190	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	2,660.00	0.00	2,660.00	LF	0.00	\$2.75	\$0.0
		0001	0200	6240104A	SEPARATION GEOTEXTILE	8,921.00	0.00	8,921.00	SQYD	2,500.00	\$3.00	\$7,500.0
		0001	0210	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.50	\$7,000.00	\$3,500.0
		0001	0220	7261018	18 IN. PIPE GROUP A	107.00	0.00	107.00	LF	0.00	\$119.00	\$0.0
		0001	0230	7311033	PRECAST CONCRETE DROP INLET 3 FT X 3 FT	12.00	0.00	12.00	FT	0.00	\$500.00	\$0.0
		0001	0240	7320618A	18 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	3.00	0.00	3.00	EA	0.00	\$2,000.00	\$0.0
		0001	0250	8061016	SEDIMENT REMOVAL	13.00	0.00	13.00	CUYD	0.00	\$50.00	\$0.0
		0001	0260	8061019	SILT FENCE	1,326.00	0.00	1,326.00	LF	0.00	\$3.00	\$0.0
		0010	0270	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	1,700.00	0.00	1,700.00	LF	0.00	\$43.50	\$0.0
		0010	0280	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	2.00	0.00	2.00	EA	0.00	\$4,000.00	\$0.0
	Project JI	NE0171 - To	otal Value	Posted to D	late as of Report Generated Date							\$667,891.1
13-B05 Ove	rall - Total	Value Post	ed to Dat	te as of Repo	ort Generated Date							\$667,891.1

Revision 3/23/2023 Page 4 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	2013000	CLEARING AND GRUBBING	9/17/24	9/26/24	0.50	ACRE	Slide #2	503+10		504+50		
0030	2031000	CLASS A EXCAVATION	9/17/24	9/26/24	156.00	CUYD	slide 1	509 + 00		506+50		
			9/18/24	9/26/24	700.00	CUYD	Slide #3	506+50		509+00		
			9/19/24	9/26/24	612.00	CUYD	Slide #1	504+75		502+75		
			9/20/24	9/27/24	216.00	CUYD	slide 1	504+75		502+75		
			9/21/24	9/27/24	108.00	CUYD	Slide #1	504+75		506+75		
			9/24/24	9/30/24	36.00	CUYD	slide 2	504+00		502+75		
			9/25/24	9/26/24	420.00	CUYD	Slide 1	506+50		509+25		bigger scoop
			9/26/24	9/27/24	144.00	CUYD		506+50		509+00		
			9/27/24	9/30/24	588.00	CUYD	slide 1	502+75		504+75		
			9/28/24	9/30/24	468.00	CUYD	Slide 1	506+50		509+00		
			9/30/24	9/30/24	512.00	CUYD	slide 1	506+50		509+00		
0050	50 2142000 FURNISHING ROCK FIL	FURNISHING ROCK FILL	9/16/24	9/26/24	680.00	CUYD	Slide #3	497 + 90		501 + 20		
			9/20/24	9/27/24	14.40	CUYD	slide 1	502+75		504+75		
			9/21/24	9/27/24	138.00	CUYD	Slide #2	503+10		504+50		
			9/23/24	9/26/24	66.00	CUYD	Slide #1	506+50		509+00		
			9/25/24	9/26/24	223.00	CUYD	Slide 1	506+00		509+25		
			9/26/24	9/27/24	415.00	CUYD		506+50		509+00		
0060	2143000	PLACING ROCK FILL	9/16/24	9/26/24	680.00	CUYD	Slide #3	497 + 90		501 + 20		
			9/20/24	9/27/24	14.40	CUYD		502+75		504+75		
			9/21/24	9/27/24	138.00	CUYD	Slide #2	503+10		504+50		
			9/23/24	9/26/24	66.00	CUYD	Slide 1	506+50		509+25		
			9/25/24	9/26/24	223.00	CUYD	Slide 1	506+00		509+25		
			9/26/24	9/27/24	415.00	CUYD		506+50		509+00		
0100	6059901	MISC. UNDERDRAINAGE	9/24/24	9/30/24		LS	slide 1	506+50		509+00		have not received certification
0110	6113010	FURNISHING TYPE 1 ROCK BLANKET	9/17/24	9/26/24	43.00	CUYD	slide 2	503+10		504+85		
0120	6113030	PLACING TYPE 1 ROCK BLANKET	9/17/24	9/26/24	43.00	CUYD	slide 2	503+10		504+85		
0170	6181000	MOBILIZATION	9/16/24	9/26/24	0.25	LS	Slide #3	111+40		93+00		
0200	6240104A	SEPARATION GEOTEXTILE	9/16/24	9/26/24	500.00	SQYD	Slide #3	497 + 90		501 + 20		
			9/24/24	9/30/24		SQYD	Slide 1	506+00		509+25		have not received certification
0220	7261018	18 IN. PIPE GROUP A	9/24/24	9/30/24		LF	Slide 1,2 and 3	497 + 90		509+25		have not received certification
0260	8061019	SILT FENCE	9/24/24	9/30/24		LF		506+50		509+00		have not received certification

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 3/23/2023 Page 5 of 7

Oct 3, 2024



Line Item Adjustments by Estimate

Contract ID: 240813-B05

Dunings	Lina	Description	A dissature and	Other	Est.	Created	Created	Amount	Remarks
Project	Line	Description	Adjustment Type	Adjustment Type	Number	Date	By	Amount	remarks
JNE0171	0100	MISC. UNDERDRAINAGE	Material		2	Sep 16, 2024	SYSTEM	(\$14,400.00)	
					3	Sep 30, 2024	SYSTEM	(\$14,400.00)	
				- Total				(\$28,800.00)	
			Material - Tota	ı				(\$28,800.00)	
			MaterialCredit		3	Sep 30, 2024	SYSTEM	\$14,400.00	
				- Total				\$14,400.00	
			MaterialCredit	- Total				\$14,400.00	
	0100 - Total							(\$14,400.00)	
	0200	SEPARATION GEOTEXTILE	Material		2	Sep 16, 2024	SYSTEM	(\$6,000.00)	
					3	Sep 30, 2024	SYSTEM	(\$7,500.00)	
				- Total				(\$13,500.00)	
			Material - Tota	ı				(\$13,500.00)	
			MaterialCredit		3	Sep 30, 2024	SYSTEM	\$6,000.00	
				- Total				\$6,000.00	
			MaterialCredit	- Total				\$6,000.00	
	0200 -	Total						(\$7,500.00)	
INE0171 -	- Total							(\$21,900.00)	
overall -	Γotal							(\$21,900.00)	

MoDOT

Contract Adjustments for Contract - 240813-B05

There are no contract adjustments to display for this contract.

Revision 3/23/2023 Page 7 of 7